Sound Ideas: Homework questions                    Further Reading: Ch. 12-1 through 12-5

	5 Hz

0.95 m

	1. Add the two waves shown below:





2. Add these two waves:


3. Two speakers produce waves that cancel out at a particular location because of interference, producing an area with almost no sound from the speakers. Was the interference constructive or destructive? 

4. If two sound waves of the same frequency are "in phase" at a certain point, will they interfere constructively or destructively? If the original sound waves had the same amplitude, how will the resulting amplitude change at that point?

5. What is the beat frequency between a tone of 330 Hz and a tone of 335 Hz? 

6. A car has a horn with a wavelength of 1 m. If the car is traveling at 17 m/s and the temperature for the day has put the speed of sound at 340 m/s, what will the new wavelength of the car horn's sound be for someone just to the side of the car as it approaches? What will it be for the person after the car passes?
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